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Partner Practice: |dentify all coefficients, constants, terms, and variables in the expressions below.

1+2x—-3x+4-5x
Terms: 5
Coefficients: 2, -3, -5

Constants: 1, 4

—6+8—-10x+12—x

A =
Terms: : )

Coefficients: -”) L i I

Constants: - | [ 1 ¢ o L

Constants: | 1

Variables: ). : (j ; 1 : A

Variables: x Variables: Y-

3 Xty+zZt+u g 4x+1ly-Tx
Terms: /:}* Terms: 2
Coefficients: | Coefficients: <1 | g +

Constants: L

Variables: i " \J

g =% A24x’—9
Terms: L}k
Coefficients: — | \ |
Constants: Z | - Cl

T
Variables: ‘Y.~ )~

& Ax=942=1x47x =1
Terms: (,f

Coefficients: 4} i +

Constants: —| | 2 Mo \

I

Part Two:

P ¥ 7 Neov ¥-

e 2cats+ 3cats= J cats

&,
e 3cats+5dogs=__~ dogs

aAr o A3
Variables: X1 ) 5

VAV 1+

e 7 dimes + 10 pencils = /’]’ dimes

e 2cars+4cars= \ | _cars
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Main Idea - Combining Like Terms ()
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7. An equilateral triang!e has a perimeter of 6x + 3 centimeters. Write an expression that correctly represents the length of
one side of the triangle.

e gt | ¥, 3 . 4xed 2l
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8. Jayden walked a total of 12x+5r-8 miles on Monday and Tuesday. If he walked 7x-10r miles on Monday, how many miles
did he walk on Tuesday? |

’2¥fﬂﬁ’€, (?xwaL\
(?zxi)“ BN +IOR = 5y 152 ~D e

9. A stop sign is in the shape of an octagon. Find the perimeter if each side is 2a + 1 units.

25\ ‘
/N 208) +%0x) + 20t + Zat) ¥ larl +204) +

KM__/ LA +20t] = \U(Lt___[

b= RK(20+1) = luatg

10. Write the expression for the perimeter of a rectangle with a length that is 4 centimeters longer than three times its width.
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| Homework:




